
Webwork 9 . 1 parts I 8 2 d u e tonight?

A s c a l a r i s a s i n a t t
↳ Ex : time, pressure, temperature, o r # o f a

thias

Vector: quantities that carry both magnitude & direction

Info.

↳ Displacement/position. tel ls you where you a r e o r

g -

how to se t from PTA t o pf B %¥*B



Position vector point from the or ig in 0

t o y o u r point A .

•¥ : &
Velocity how fast you're going & i n what direction

↳ 85 mph due west

¥ ,



RepresentationsofVectorss

I n 2 D : Vedas a r e written i n o n e o f two ways

① L i s t : ( a ) b ) position vector pants from
-

Origin (0,0) to the point

(a, b)

② unit basis

vect
ors:) 2 = 4 0 3 o n e

a t + b j 5=6,17 o f



1h31
( a ,b , C )

O r

a f t b j + C R R points i n t Z d i r.

Gwmtwoosieasofhesaweta.pk?=&*#

When a r e they Equal?



-

( h i , Uz, - -

, U n ? - i t

{Vi , . . . , Vn> = P

UT = p I f & only i f Ui =V i fo r each 1

"Equal vectors have the same Cowpats"

A

"s lo t" o f a a c t o r .



Ex (Finding a displacement vector)

D = 413)
, Q e (4,-71

find the drop. vector POT

A x = 3

• p - U B )
A y e - 1 0formula'.

§Q= "final"-"initial" ¥'
a-14.-71( l i ft)-Li , 3 )

& @

443-1072



P - l ! 2,3)

Q= (hi,-5, 6)

P I - Q - p = ( 3 , - 7, 3 7



"

}i¥a:b, × real#s.

F, f be h-din'd vectors

Eddin t t f = (it,,--e, Un ) t hu s , - - i r n >

= Guith, UztVz, - - - , U n t U n )

I n general I t v = Ftw



"Tip-to-tail"
o r

parallelogra
m § = GO,O,--o, 0 7

¥¥¥
" " '"d"

I Z e r o ' " ' "0 + 8 = Ota = as

O s c a l a r m u l t i p l i c k
H E = YET,,-- R n ) = ( du , - -c , dun )

note: Ai r i s parallel too.¥ ÷ I f 1 4 0 :
→ I §

s a m e l ine,
diff. directions.



③ Distributive ru le :

I l e t F ) = h i t d i

scalars distribute o v e r Veder addition.

"proof"

x . t.us#=saepngfg&.

÷



r u l e s 1 2 2 tell u s how todo quotas;

¥ i - i = l i t t l e )

( F points
from

head o f f t o⇐¥÷÷
*.

head of i t



Normofaveotory a k a magnitude o r length

0=44,---, V n )

Hill-(Evil)" - F I X E R
i n

n

T displacement vector from the o r i g i n 0=10,0,..-O)

to P=(v,,--r, un)

& 1h41 I s length of line segment from O t o P.



11011-length top)i:÷÷÷÷i÷n
f, Po two h-din'd vectors µ¥@



unitvectors: a v a t a r i t i s a unitector

I f 11in 1 1 = 1 .

Notation: Tv m e a n s that UT I s a unit vector.


